[Time: Threé Hours]

! Please check whether you have got the right question pape

N.B: 1. All questions are compulsory.

2. All questions carry in marks.

3. Figures to the right indicate full mark

4. Use simple calculator.

) 5. Working should from part of 2
Q1 a) State whether True or False : (Any_eight). .. 08
Prlme cost = Direct Materl‘ t+ Di
. 07
Unit X % of normal loss
_Normal cost / normal output
Office and Administrative Overheads
" Work certified + work done but

uncertified
Income credited only in cost Accounting
Selling And distribution Overheads
Expenses debited only in Financial
Accounts
Cost of Materials
Work certified — cost of work certified
Normal output — Actual output 1
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Q.2 Given blow is the Trading, profit & Loss Account of Ltd. For the tear 3

Particulars : Rs. | Particulars
To Materials consumed 3,00,000 | By sales (2,50,000) .
To wages 2,00,000
To factory expenses 1,20,000
To factory expenses 40,000
To selling expenses 80,000
To net profit 10,000
2,50,000

Information related with cost accounting are a “f‘(‘) }
Factory overheads- Fixed Rs.60000 and variable Rs.75000
Office overheads-Rs.50000 Selling overheads ~fixed R

15
Q.2

Work overheads Rs: 8 perm chme hours warked = 25,000 hrsf
Offices overheads R 2

Q.3 15

Processes

2,000 1,025
3,680 1,400
3,680 1,400
20% 25%
04 05 |
3,400 2, 700 |

ocess You are reqmred to prepare the process Accounts, abnormal loss, abnormal
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Q.3 The product of a company passes through three distinct proc
as X, Y & Z. From the past experience, it is ascertained that.i
process X — 2% process Y — 4 % & process Z — 10 %.

Particulars Process x (Rs.) Proce
Material 2,70,000
Wages 4,30,000

Direct expenses 1,74,500

Scrap value 2.5

Normal output 48,750 units

50,000 units are put in process X at a cost
You are required to prepare process account. &

Q4

75,00,000. The contractee pa

Particulars

Materials

Direct expenses

Indirect expenses

Work certified o.".50

Work uncertified :

Plant lssued

Q.4 Pz

15

n 1* July 2015. The contract was completed on 315t 15

0n:31* march. The details of the contract are:

1/4/2016 -31/3 /2017

2015 - 31 /03 /2016

1,52,000 3,30,000
1,25,000 4,65,000
30,000 45,000
22,000 15,000
20,000 8,000
ABH0GT T s
23,000 66,000
------- 5,000
3,00,000 15,00,000
3,00,000 1,50,000
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Provide depreciation @ 20% p.a. on plant.
Prepare Contract Accounts for the years ended 31 march 201 ‘

nd

Q.5 A) Classify the cost on the basis of behavior.

Q.5 *Write short notes on any three from the foll
1) Process costing
2) Reason for difference between cost:
3) Explain the limitation of financia
4) Normal loss

Work certified.
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